If we choose a = 0.05, then Table 2 gives the critical values correspond-
ing to n = 20 and one regressor as dg = 1.20 and dy = 1.41.
+d =108 <dg =120

. We reject Hy and conclude- that the errors are positively autocorre-

lated.
" TABLE2. Critical Values of the Durbin-Watson Statistic
Probability in
Lower Tail k. = Number of Regressors (Excluding the Intercept) -
Sample (Significance 1. 2 3 4 5
Size Level= a) dL dU dL dU d[, dU dL dU dL ' dU
' .01 81 107 .70 125 .59 146 .49 170 .39 - 1.96
15 .025 95.- 123 .83 140 .71 161 .59 1.84 .48 2.09
.05 108 136 .95 154 .82 175 .69 1.97. .66 221
, .01 95 115 86 127 .77 141 63 157 .60 1.74
‘ 20_ .025 1.08 128 .99 141 .89 1.55 79 170 .70 1.87
.05 1.20 1.41 1.10 1.54 1.00 1.68 90 1.83 .79 1.99
.01 ) 1.05 121 .98 130 .90 1.4l 83 1.52 .75 - 1.65
25 .025 1.13 1.34 110 1.43 1.02 1.54 94 1.65 86 1.77
05 - 129 145 121 155 112 166 104 177 95 189
: .01 113 1.26 1.07 1.34 101 142 .94 151 .88 1.61
30 - .025 1.25 1.38 1.18 1.46 112 1.54 1.05 1.63 .98 - 1.73
.05 1.35 149 1.28 157 121 165 114 1.74 1.07 183
.01 125 1.34 120 140 115 146 1.10 1.52 1.05 1.58
-40 _ .025 . 1.35 145 130 151 1.25 157 120 1.63 115 1.69
' .05 144 154 139 160 134 1.66 129 1.72 123 1.79
.01 132 1.40 128 1.45 124 149 120 154 116 .1.59
50 ~.025 1.42 150 138 154 134 159 130 1.64 126 169 .
| .05 150 '1.59 1.46 1.63 142 1.67 138 1.72 1.34 177 .
01 . 1.38 1.45 135 148 1.32 152 128 156 1.25 1.60
60 .025 1.47 154 1.44 157 1.40 161 137 1.65 133 1.69
.05 155 1.62 151 1.65 148 1.69 1.44 1.73 141 177
.01 147 152 1.44 154 142 157 139 1.60 1.36 1.62
80 .025 1.54 1.59 152 1.62 149 1..65 147 1.67 1.44 1.70 -
.05 ‘161 1.66 1,59 1.69 156 172 1.53 1.74 151 177
.01 - 152 1.56 1.50 1.58 1.48 1.60 1.45 1.63 144 1.65 »
100 025 . 159 1.63 1,57 165 1.55 1.67 1.53 1.70 151 1.72
' .05 165 169 1.63 1.72 161 174 1.9 1.76 157 1.78
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